1.

@ 9000 2t} 100 &

—_

@ 1000 ©] 100 ¢

@ 9990 Hr} 100 5

® 9900 Bt} 100 2 &
3 9999 At} 1 = =



2 3 3000 THo] 10 Q1 4=oF &2 A2 o] AJdY7L?

@® 3ol 100 91 4= @ 300 Tto] 100 I =
3 99999999 Hrl1 & 4 @ 9000 YR} 2000 & 5=

3 29999990 Bt} 300 = &



&% 57 0] el £ 1y 2

@® 43297 @ 24756

@ 57841 ® 70123



@ (1)209, 104 (2) 40004, 4004, 40 ¢
® (1)1009, 109 (2) 40009, 400¢], 40
@ (1) 10004, 100 %] (2) 4000 %, 4002, 40

® (1)100F, 10F (2)4 %, 40004, 40




5. T8 %M E SE ol AQUIR

@ 5000000 + 600000 + 90 + 8
@ 6825360

O L b ] s R e
@ 70000005} Agt Z-o
®

to] 628037, 1 0] 186321 &=



6. T 3 8ol Uetlle 7 7P & A2 ol AI7E?
@D 8945 <] @ 4120% 8484 4950 Tt
® 8675369000 @ 38723104750000

3 3217895416000000



@ 720 043259 © 72 9948027

© 7209 47656

© 0O 006 ©® 0,6,0 ® 0,606
@ O, ©, A6 ® ©, 6.0



& .=
131
o Q
Co o A 180° Rt} 2
Py Ke)
o 7t

® %
L —.—
@ %
L ———

@ 7

L2

G 7+
1=2C

rlu
N
Mo
2
in

® 7
L=



Ko

ol

ol

@ 60°, 60° ® 90°, 70°

@® 45°, 70°

® 55°, 25°

@ 20°, 30°



10. o8 7k 3 71 2 AL oln AU

® 120°+35° @ 22A7t+15° ® 45°+175°

@ 37&7ZF-95° ® 2&Z+-70°



11.

A H
104} 108}
O O Gz
@ 70, 7000 <} @ 70, 700 % ® 7001, 7000 <

@ 79 7004 ® 79 7094



82 7P 2 45 A vehd A ols AQY7

1
@ 235%F°] 100 Hj © 69 7200‘3}94

© 38795001 2] 1000 Hj @ 419 670579 m

09,6066 06060 0066 0
® e 0 60,66 6 0 6, 0, 6



13.

AA9) A3 2o) o) 2

® 2430 %
@ 7A



® 9 A

@ 8 A

B 5 A

@ 4 A

@D 1A



R BEEERERE

15.

@® 180°



